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import sys
sys.path.append("statlib")
from misc import newton

newton(fun, x1, delta=le-5, epsilon=le-14, max_rotation=100)
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import numpy as np

def f1(x):
return np.sin(x) / x

import matplotlib.pyplot as plt
X = np.linspace(-0.5, 10 * np.pi, 1000)
y = f1(x)




plt.plot(x, y, linewidth=0.5, color="blue"
plt.plot([-1, 35], [0, 0], linewidth=0.5,

import sys
sys.path.append("statlib")
from misc import newton

a = newton(fl, 1)
plt.scatter(a, 0, s=16, c="red")

a = newton(fl, 5)
plt.scatter(a, 0, s=16, c="green")
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def f2(x):
return x**3-2

a = newton(f2, 1)
print(a, f2(a))
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